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L. BT 51475 A % £ 45 H(singular matrix) 7 & 3% s 3.9 $| BF 6932 & - (15%)
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2. HERTF R LAE—ERET G ESG T2 MK(inner product)iE & F o (15%)

3. BAER AR, 4518 R84 B &) I 3 48 M (orthogonal matrix) *
(1) BAR=RT - (5%)
(@ BHER=RR, FHERER - (10%)

1 0 0 cosg 0 -—sing cosk sink 0
€)) %ﬁéi_’_—‘.‘f&]ﬁl‘#—Mw-:[O cosw sinw}*M,: 0 1 0 jl‘Mk ={-—sink cosk 0} J
0 —sinw cosw sing 0 cosg 0 0 1
HHBM=M MM, XELAHELER » T D - (15%)
@) #EX ¥ w=-23 + ¢=12* + k=126" » L% — @ ¥ 1={200.001 398214 —£23.682}" -
5=1.003 » XRAFy=sME2 M FRAEAM (FHAEZEIHEHBRE ML) %)

228 -0.96]
—0.96 1.72} '
(1) 3 ¥ 348 M 04 45 W18 (eigenvalues) 248 $1 JE & 45401 & (eigenvectors) o (10%)
(2) #HerE AT B AP BT - (10%)

4, %Eﬁf‘iA=[

5. BE F R B 2 4x & 2 9% B 4 B (nonsingular matrix)
(1) #5546 6 N = B™B % 44 46 1 (symmetric matrix) = (5%) |
(2) #8994 N=B"B % 7 i (invertible) . £ 3§ (trace) s AW E - (10%)
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